We saw I in the first problem

how to solve a system of equations

We saw in the first problem how to solve a system of equations It was useful to have one equation in slope-intercept form!

We saw **in the first problem** how to solve a system of equations It was useful to have one equation in slope-intercept form! But what if neither are in slope-intercept form?

We saw in the first problem how to solve a system of equations It was useful to have one equation in slope-intercept form! But what if neither are in slope-intercept form? **Example:** Find the solution to: 2x - 3y = 72x - 2y = 6

We saw in the first problem how to solve a system of equations It was useful to have one equation in slope-intercept form! But what if neither are in slope-intercept form? **Example:** Find the solution to: 2x - 3y = 72x - 2y = 6

Let's put one of our line's in slope-intercept form

We saw in the first problem how to solve a system of equations It was useful to have one equation in slope-intercept form! But what if neither are in slope-intercept form? **Example:** Find the solution to: 2x - 3y = 72x - 2y = 6

Let's put one of our line's in slope-intercept form More generally, we need to solve one equation for one variable

We saw in the first problem how to solve a system of equations It was useful to have one equation in slope-intercept form! But what if neither are in slope-intercept form? **Example:** Find the solution to: 2x - 3y = 72x - 2y = 6

Let's put one of our line's in slope-intercept form More generally, we need to solve one equation for one variable • Let's solve the second equation for x to get:

We saw \bigcirc in the first problem how to solve a system of equations It was useful to have one equation in slope-intercept form! But what if neither are in slope-intercept form? **Example:** Find the \bigcirc solution to: 2x - 3y = 72x - 2y = 6

Let's put one of our line's in slope-intercept form More generally, we need to solve one equation for one variable • Let's solve the second equation for x to get: x = y + 3We could have chosen any of the four, but needed to pick one.

We saw in the first problem how to solve a system of equations It was useful to have one equation in slope-intercept form! But what if neither are in slope-intercept form? **Example:** Find the solution to: 2x - 3y = 7 2x - 2y = 6Let's put one of our line's in slope intercept form.

Let's put one of our line's in slope-intercept form More generally, we need to solve one equation for one variable Let's solve the second equation for x to get: x = y + 3We could have chosen any of the four, but needed to pick one. Using x = y + 3 we can substitute it in the first equation:

We saw in the first problem how to solve a system of equations It was useful to have one equation in slope-intercept form! But what if neither are in slope-intercept form? **Example:** Find the **•** solution to: 2x - 3v = 72x - 2y = 6Let's put one of our line's in slope-intercept form More generally, we need to solve one equation for one variable • Let's solve the second equation for x to get: x = y + 3We could have chosen any of the four, but needed to pick one. Using x = y + 3 we can substitute it in the first equation: 2(v+3) - 3v = 7

We saw in the first problem how to solve a system of equations It was useful to have one equation in slope-intercept form! But what if neither are in slope-intercept form? **Example:** Find the **•** solution to: 2x - 3v = 72x - 2y = 6Let's put one of our line's in slope-intercept form More generally, we need to solve one equation for one variable • Let's solve the second equation for x to get: x = y + 3We could have chosen any of the four, but needed to pick one. Using x = y + 3 we can substitute it in the first equation: 2(v+3) - 3v = 7We can solve this to get:

We saw in the first problem how to solve a system of equations It was useful to have one equation in slope-intercept form! But what if neither are in slope-intercept form? **Example:** Find the **•** solution to: 2x - 3v = 72x - 2y = 6Let's put one of our line's in slope-intercept form More generally, we need to solve one equation for one variable • Let's solve the second equation for x to get: x = y + 3We could have chosen any of the four, but needed to pick one. Using x = y + 3 we can substitute it in the first equation: 2(v+3) - 3v = 7• We can solve) this to get: y = -1

We saw in the first problem how to solve a system of equations It was useful to have one equation in slope-intercept form! But what if neither are in slope-intercept form? **Example:** Find the **•** solution to: 2x - 3y = 72x - 2y = 6Let's put one of our line's in slope-intercept form More generally, we need to solve one equation for one variable • Let's solve the second equation for x to get: x = y + 3We could have chosen any of the four, but needed to pick one. Using x = y + 3 we can substitute it in the first equation: 2(v+3) - 3v = 7• We can solve) this to get: y = -1Since y = -1, solving for x we get: x = y + 3 = -1 + 3 = 2

We saw in the first problem how to solve a system of equations It was useful to have one equation in slope-intercept form! But what if neither are in slope-intercept form? **Example:** Find the **•** solution to: 2x - 3y = 72x - 2y = 6Let's put one of our line's in slope-intercept form More generally, we need to solve one equation for one variable • Let's solve the second equation for x to get: x = y + 3We could have chosen any of the four, but needed to pick one. Using x = y + 3 we can substitute it in the first equation: 2(v+3) - 3v = 7• We can solve) this to get: y = -1Since y = -1, solving for x we get: x = y + 3 = -1 + 3 = 2**Conclusion:** (2, -1) is the solution to the system

We saw in the first problem how to solve a system of equations It was useful to have one equation in slope-intercept form! But what if neither are in slope-intercept form? **Example:** Find the **•** solution to: 2x - 3y = 72x - 2y = 6Let's put one of our line's in slope-intercept form More generally, we need to solve one equation for one variable • Let's solve the second equation for x to get: x = y + 3We could have chosen any of the four, but needed to pick one. Using x = y + 3 we can substitute it in the first equation: 2(y+3) - 3y = 7• We can solve) this to get: y = -1Since y = -1, solving for x we get: x = y + 3 = -1 + 3 = 2**Conclusion:** (2, -1) is the solution to the system